

[1]

$$\mathcal{L}^{-1} \left\{ \frac{1}{s^2 + 4s + 6} \right\}$$

$$= \mathcal{L}^{-1} \left\{ \frac{1}{(s+2)^2 + 2} \right\} = \frac{1}{\sqrt{2}} e^{-2t} \sin(\sqrt{2}t)$$

[2]

Find the Laplace transform of the function

$$f(t) = \begin{cases} 0 & 0 \leq t < 1 \\ t^2 & t \geq 1 \end{cases}$$

$$t^2 = (t-1)^2 + 2(t-1) + 1$$

$$f(t) = t^2 u(t-1)$$

$$= (t-1)^2 u(t-1) + 2(t-1) u(t-1) + u(t-1)$$

$$\mathcal{L}\{f(t)\} = \frac{2}{s^3} e^{-s} + \frac{2}{s^2} e^{-s} + \frac{1}{s} e^{-s} = \frac{s^2 + 2s + 2}{s^3} e^{-s}$$

[3]

Use the Laplace transform to solve the boundary value problem

$$y'' + 2y' + y = 0$$

$$y'(0) = 2$$

$$y(1) = 2$$

$$s^2 Y(s) - s y(0) - 2 + 2(s Y(s) - y(0)) + Y(s) = 0$$

$$(s+1)^2 Y(s) = (s+1) y(0) + 2 + y(0)$$

$$Y(s) = y(0) \frac{1}{s+1} + (2 + y(0)) \frac{1}{(s+1)^2}$$

$$y(t) = y(0) e^{-t} + (2 + y(0)) t e^{-t}$$

$$2 = e^{-1} (2y(0) + 2)$$

$$y(0) = e - 1$$

$$y(t) = (e - 1 + (e + 1)t) e^{-t}$$

[4]

$$\int_0^{\infty} e^{st} t \cos t \, dt = \mathcal{L}\{t \cos t\} = \frac{s^2 - 1}{(s^2 + 1)^2}$$

$$\int_0^{\infty} e^{-2t} t \cos t \, dt = \frac{3}{25}$$

-F(s)